Installation for stand components

1.0pen Front cover with Key,Take out the bottle
and pump

Bottle

Pump

Front Cover

2.Put advertising photo inside of 2pcs AD board

Screw M4x10 Advertising

photo

Screw M4x20

Screw M4x10
(4pcs) (3pcs)

3.Install the dispenser and Ad board on the Table
stand

Nut M4
(3pes)

Screw M4x20
(3pcs)

4.Full assembly.




